A RN TTAR B 5 R0 U v S RO AR B R /KUK BB/ 26 SR T &
%%umﬁmzm(k)axﬁ%y?u +
[ ANER] -
B B B AREAERAS 114 5 2+ B FHE 62 /5.
207 AHZEE 93 K VAN T/ N 61 K
3. FH 78 A 3L FNZFNE 53 M
Ay W 58 i anr.  RIFF 50 A%
5 B[/K kL 51 5% 5 HZEE 49 m.
6/, HIZE 49 & 6/  fHE 44 B
[ F5 H A kA ]
[EE] ER B K4 FREREHE | 24 | IEGL | AR | #racsk | k& k&2 k&3 k&4 £ FREREH#E | 24 | IEGL | A XEER | #rscsk | k&1 k&2 k&3 k&4
[FREH K [XREEs =52 | 1 25.61 IREAMALZF HABAKXRT | &1 1 29.25
50m |FE# BE BARBAKSE | 52| 2 26.06 REMATE FEES =] 2 34.31
o EH | FHES =2 3 26.10 A EiE HEES =1 3 40.28
% TR BAREHXRAT | 52 | 1 58.02 HW HXK HEEES =2 | 1 1:0215 |- K£H
100m |#JF Boh HEEES =52 2 58.47 HmH =8 KES =11 2 | 1:09.00
& RA/NEX FHE =1 3 | 1:.01.78 *H BEF | EES =2 | 3 | 1:10.34
7 A BK FMALS =2 1 | 22073 X HE FHAS =2 1 | 2:27.83
200m BHAXR BN HKES =2 | 2 | 2:26.08 T IS EEES =1 2 | 2:51.02
BE =4 [$HES =2 | 3 | 2:30.34 FE EX FHES =1 3 | 2:54.68
A B FHS =1 1 4:52.42 H o aEE %u%ﬂm‘:.—, =1 1 4:53.19
400m AR [ BEES =1 2 | 5:05.91 FEE KES =2 | 2 | 5:31.85
WO & FALLS =2 | 3 | 5:12.00 FiE DN FHES =1 3 | 54589
ik 580 |BAEES 51 1 1:08.67 Al W FALS =2 | 1 1:24.85
100m RE EBX BX@EIMXMT| 52 | 2 | 1:09.43 BA &N BAREUHXRMT | &2 | 2 1:35.41
Tk Y Imth | BARBEBUXRAT | &1 3 1:11.78 M #%hA HEEES =2 | 3 1:37.53
) BRSBTS 22| 1 | 22763 |- KE&H MR B# [FMALLLS =1 1 | 31814
200m E#E B |BAREUXRAT| &1 2 | 2:49.09 XA % AT =2 | 2 | 32323
A3 18 MALS a1 3 | 2:58.63 i Bl KiFE =1 3 | 35587
=H BA [EEES =221 1 1:08.70 WEHPLE | KiFE =2 1 1:09.45
100m HhE Ak HES 52 2 1:09.12 XE BT FHS 52| 2 1:10.59
e e flu A #HES =51 3 | 111157 5B B8 MZHEs =2 | 3 | 1:1358
) FH BE [FHS B1 | 1 | 22129 | K& gE Pt |FMALEE =11 1 | 30693
200m &3 KEF HAEUXSAT | Si 2 | 2:2759
=X BE HABUXRS 52 3 | 2:37.31
KA AKX FHIEXS =52 | 1 1:01.85 Zk BEX BHBEe =2 | 1 1:11.01
100m [f[E XAk HBEEZD 22| 2 1:02.02 EH #X XFS 52| 2 1:11.66
RIS rE = EIZMMMN =1 3 | 1:0456 & ¥E WEEES =2 | 3 | 1:19.87
¥ FE |FALLS =1 1 2:28.93 Kg EHF EIiEEiT%‘ 52 1 2:58.88
200m |—%& RF BEEHXST =2 2 2:31.89
FE 2B BAREIUEXRST ] 51 3 | 2:3461
=H HHE BAREBUXRAT] =1 1 2:20.15 FH t% HES 52 | 1 2:3352 |- K&
200m HT Hm FHS =1 2 | 23252 =0 BfE aZiEs =2 2 | 300.11
BIARL— Mi# =m| FHIXS | 52 | 3 | 23293 FigEA<EF BABUEXRSM | &2 | 3 | 3:00.79
EERRES A 52 | 1 5:47.21 mlll £E ¥HS =1 1 6:00.10
400m |(AIIR EiE HBEED =2 2 | 6:31.76 BOHHIY FRALLS =2 | 2 | 6:00.20
BAEES 1 3:53.14 BARE—BRHE 60 Bk ISR AR UK *HS 1 4:32.86 K5 H#E HAEEZE T EE | KE RBE
2')—1JL— | 4x100m =R LN D 2 | 35324 RE BX|E#E TR 50 #HE T A8 MEMFES 2 | 4.36.76 HeEES EE 8 ZANEXEH BR
YHS 3 | 3:58.36 oW M FH BE RA/IIIEAXNXT EiE N 3 | 44085 WEHPLE EH FX | FH EE | T EM
BAEES 1 4:13.12 TR HE BARE—ERME SOK #E R ¥HS 1 5:09.49 mlll EE X #E KE BE HREXRE
ARL—1)L—| 4x100m B Af@4 Kt 2 | 41837 =H BB RE 1%7( — & WA |FN EE MEMFES 2 | 5:1353 EB 5% &FH B#E HPEEREEANESE
rHE 3 | 42705 BH BE MAN &I BT BF At EH RS 3 | 5:17.06 WMEHPLE T B HEH #E FH EE




